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1SiF | 2SI | 3SIF| 1SF 2SI 3SIF| 1SF | 2SI 3SF | 1SF | 2S5F 3SP
= C €T €| € € ©C |ppm ppm ppm|pem pom  ppm
18 - 910 903 | — 160 160 | — 03 O7 — 88 83
24 - 919 894 | — 160 160 | — 00 08 — 88 83
38 - 906 892 | — 160 160 | — 0.1 06 — 88 84
4d - 914 899 | — 160 160 | — 0.1 04 — 88 84
5H - 919 897 | — 160 160 | — 00 04 — 87 83
Sl=] - 911 899 | — 160 160 | — 04 04 — 87 83
4= - 902 904 | — 160 160 | — 00 O3 — 90 85
8H - 919 ©04 | — 160 160 | — 02 02 — 90 87
od - 922 899 | — 160 160 | — 05 08 — 90 84
108 | — 912 900 | — 160 160 | — 0.1 08 — 88 83
118 | — 907 899 | — 160 160 | — 0.1 o.r — 86 81
128 | — 900 897 | — 160 160 | — 0.1 04 — 88 83
138 — 913 906 | — 160 160 | — 00 08 — 88 82
148 | — 907 897 | — 160 160 | — 00 08 — 87 83
158 | — 921 906 | — 160 160 | — 00 04 — 90 83
168 | — 915 ©O07 | — 160 160 | — 00 05 — 88 83
178 — 910 911 — 160 160 | — 00 06 — 92 87
188 | — 907 893 | — 160 160 | — 00 03 — 92 87
198 | — 911 899 | — 160 189 | — 00 10 — 91 84
208 | — 911 892 | — 160 160 | — 00 10 — 89 83
218 | — 911 905 | — 160 160 | — 0.1 06 — 88 84
228 | — 911 ©02 | — 160 160 | — 00 05 — 90 84
23H | 649 921 910|148 160 160 | 50 O 04 | 126 91 88
24H | 815 920 908 | 157 160 160 | 27 0O 04 [106 91 85
25H | 900 931 902 | 160 160 160| 03 02 03 | 85 91 86
26H | 933 934 902 | 160 160 160 | 08 @ O.1 04 | 82 92 90
27H | 913 928 903|160 160 160 08 OO 04 | 93 ©3 88
28H | 917 914 904 | 160 160 160 08 OO O3 | 92 90 86
290H | 926 922 914|160 160 160 | O6 06 O3 | 92 91 89
30H | 917 922 911|160 160 160 | 04 O o7 | 94 92 89
318|904 920 — 160 160 — 04 OA1 — 89 90 —
RAE | 933 934 914|160 160 160| 50 06 10 (126 93 90
RIME | 649 900 892 | 148 160 159| 03 0O 02 | 85 86 81
e | 875 915 902 | 158 160 160 | 1.3 OA1 05 | 87 89 85
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18 0.00 - 841 -
2d 0.00 - .23 -
34 0.00 - 732 -
40 0.00 - 769 -
5d 0.00 - 8.50 -
6d 0.00 - 0.00 -
4= 0.00 - 0.00 -
8d 0.00 - 775 -
od 0.00 - 761 -
108 0.00 - 889 -
118 0.00 - 746 -
124 0.00 - 812 -
138 0.00 - 834 -
14Hd 0.00 - 0.00 -
158 0.00 - 815 -
164 0.00 - 798 -
178 0.00 - 0.00 -
18H 0.00 - 764 -
19 0.00 - 884 -
208 0.00 - 0.00 -
218 0.00 - 0.00 -
228 0.00 - 775 -
238 0.00 - 877 -
2408 0.00 - 819 -
2508 0.00 - 882 -
2608 0.00 - 863 -
278 0.00 - 0.00 -
2808 0.00 - 0.00 -
2908 0.00 - 124 -
308 0.00 - 765 -
318 0.00 - 0.00 -
g &t 0.00 x 176.98 %
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12818H| — <K0O.01<0.01 — <002 <0.01 — 24 66 — 26 13
SEFIREIE 0.04 152 700 250




